= o,
H & 0 & AF Y H A A
2015 = 1 3 AL H QYAMIER ~VES
S EEIS
Y FOMH 2Y(AB1S5)

SRl THAZE 2 (9 ® =)
SAH-AH -2 (SA) - HREAY - BES Ol A o4 IR Hws2
AE1S 197,617 195,117 2,500
FOME 22 (A518) 154,417 151,917 2,500

fakatel 42,195 39,695 2,500
HAr2el 38,975 36,475 2,500

201 2 Bt2 4| 23,975 21,475 2,500
02 3322l 22,255 19,755 2,500
OAl& &Hl Rl 8,655 6,155 2,500
—&&J 2= WAbl 2,500,000 2,500 0 2,500
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= A
N = 0 &8 AFH Y & A AN
20158 =& 1 3 LUFAH QATAME=R ~NES
SN AEes
M FOMH 2%(852S)
SHel: FUXXME 29 (el &)
M- M .2 (3H) - NEAMY - BES ;] Fat el Iy H 2
210,114 198,114 12,000
2 4,800 0 4,800
Al 205,314 198,114 7,200
ZOIME 2H(/E2S 166,914 154,914 12,000
2 4,800 0 4,800
Al 162,114 154,914 7,200
ZOIRXINE 29 42,800 30,800 12,000
2 4,800 0 4,800
Al 38,000 30,800 7,200
HESSHE 29 12,000 0 12,000
=2 4,800 0 4,800
Al 7,200 0 7,200
IRy 12,000 0 12,000
=2 4,800 0 4,800
Al 7,200 0 7,200
A2 S H 12,000 0 12,000
O#i=gstzdEy 29 12,000,000 12,000 0 12,000
2 4,800 0 4,800
Al 7,200 0 7,200

- 1938 -




A & 0l & AF 2 E A A
P015EE £ 18 AWEH ASANSR ~ HUES
2H: DRES
Hu: oM 2H(DLRE)

Sl FoIME X (B9 ®R)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
nYes 312,628 302,628 10,000

2 9,900 0 9,900
Al 302,728 302,628 100
ZOIME 2Y(DLRE) 239,349 229,449 9,900
2 9,900 0 9,900
Al 229,449 229,449 0
FolME x8 139,580 129,680 9,900
2 9,900 0 9,900
Al 129,680 129,680 0
DIREE BHE AYAY 9,900 0 9,900
2 9,900 0 9,900
201 et bl 3,300 0 3,300
= 3,300 0 3,300
01 AL 22l bl 1,000 0 1,000
OANEANY S2X(85) M= 1,000,000 1,000 0 1,000
2 1,000 0 1,000
03 B At 2 bl 2,300 0 2,300
O SNEAH L&A LE 2,300,002 2,300 0 2,300
2 2,300 0 2,300
206 T & 4,980 0 4,980
2 4,980 0 4,980
01 2 bl 4,980 0 4,980
OS =XNSAH NHMAS WEH 4,980,000 4,980 0 4,980
2 4,980 0 4,980
301 YL 4D 1,620 0 1,620
2 1,620 0 1,620
EETTErE 1,620 0 1,620
O =xNgdH 15 % 5o 1,620 0 1,620
—o® DEEA L SAY 500,000 500 0 500
2 500 0 500
~ S SNEAM AY HOX AHBAS
7,000 %202 *83] 1,120 0 1,120
2 f,120 0 1,120
FHSAAY (DLEE) 73,279 73,179 100
T 26,219 26,119 100
TR 26,219 26, 119 100
101 Q12| 26,219 26, 119 100
03 RIHA2ZRES 26,219 26,119 100
OIRQIHY RIIHA2Z R oIl 23,823 23,723 100
—Zg¥ HSYA 50,0008 %1% 23] 100 0 100
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= A
N = 0 &8 AFH Y & A AN
20158 =& 1 3 LUFAH QATAME=R ~NES
M DA1sS
Mo FOME 2Y(DLIS)

S FUNXNMAH 29 (&2 &)
2 A .2 () - HEMNY - BHES 0] AFoH Iy H HnE2
neIai- 340,100 210, 120 129,980
ZOIME 2 (DU1E) 272,218 142,718 129,500

ZOITXIHE 29 160,925 31,425 129,500
=0l MSSSAE 2L ALY 129,500 0 129,500

401 AlEHIZ =20 13,500 0 13,500
01 Al&H| 13,500 0 13,500
OFUXXHME EAZ HE DS A
7,500,000 7,500 0 7,500
OFOUXNXHEH A SHIIAIE EXSA
6,000,000 6,000 0 6,000
405 KtHabE S| 116,000 0 116,000
01 XA 2 E F SH 116,000 0 116,000
OFQUNXMH LA 28I 2 116,000 0 116,000
—EfdCco (L) 6,554,000 *10CH 65,540 0 65,540
— WOI2 (YAl ZHA! 2,040,000 *4CH 8,160 0 8,160
—dIOZdg A S 2SI|H 143
2,559,000 *14LH 35,826 0 35,826
—mHX £ 20|12 7E 647, 40021 *10CH 6,474 0 6,474
HHSAAH (DUIS) 67,882 67,402 480
ol 2| 26,362 25,882 480
ol oy 26,362 25,882 480
101 Q1A H 26,362 25,882 480
03 RIHA22UHE 26,362 25,882 480
OQILA0Io Y I HAZ 2 Q1A 23,988 23,508 480
—JE2g 40,000 1% *12% 480 0 480
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